LYNX MANUAL DOC .REV .A 20-06-2016

LX1649 G380 - Ultra Landing Gear - Silver - Profile 1
LX1650 G380 - Ultira Landing Gear - Red - Profile 1
LX1651 G380 - Ultra Landing Gear - Black - Profile 1

(Step 1

2 x TCEM2.5X10
Hex Cup Screw M2.5X10
Loctite 242

2 x Frame C washer (Standard)

1T

DR1752
Rear Landing Gear Support

!
T

Note: pay atftention position of
landing gear support as shown
before Loctite 242

Bottom view

DR1754
Landing Gear Support
Carbon Plate

2 x TBEM2.5X6
Button Hex Cup
Screw M2.5x6
Loctite 242

B
—
Yo

(Step 2) (Step 3)

DR1751
Front Landing Gear Support (left)

TCEM2.5X8
Hex Cup Screw M2.5X8 _
Loctite 242 -
DR1774
Front Landing Gear Support (right
TCEM2.5X8 ° pport (fight]
Hex Cup Screw M2.5X8
Loctite 242
Assembly finish
I N
> Hex Cup Screw
M2.5X8
o L’ Loctite 242
’ 2 x DRO086
Frame C Washer
M2.5 R F 111111 o000
[—omre N\ | 1 1 commmmm—m—m

DR1753
Landing Gear Profile

HELI INNOVATIONS




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


